


51 )   

        .

)	   .  ,   
,  ,    .

)	     .

)	  , ,  .

)	    .

)	  ,  , ,   
  .    
.

)	    ,   .

)	  , ,  ,  , 
   .

	 )	     ,  
 ,   .

)	  ,     .

)	          
     ,   
  .

)	       14   
    .

 
 - IV A

 



 

Ðèþ$àÆ>çÙ‰ Æ>çÙ‰ ´ëuæÿÅç³#çÜ¢Mæü °ÇÃ† Ðèþ$ÇÄæý$$ ´ëuæÿÅ{ç³×êãMæü ç³ÇÔZ«§æþ¯èþ çÜ…çÜ¦, ç³#×ñý&411 004.

{ç³¿¶ý$™èþÓ ¡Æ>Ã¯@þ… “MæüÐ@þ$ çÜ…QÅ : A¿êÅ‹Ü&2116/({ç³.“Mæü.43/16) G‹Üyìþ&4 ™óþ© 25.04.2016 {ç³M>Ææÿ… Ýë¦í³…^èþºyìþ¯@þ çÜÐ@þ$¯@þÓÄ¶ý$ çÜÑ$† Äñý¬MæüP
™óþ© 19.03.2019 Æøk çÜÐ@þ*ÐóþÔ¶ý…ÌZþD ´ëuæÿÅ ç³#çÜ¢MæüÐ@þ¬¯@þ$ 2019&20 Ñ§éÅçÜ…Ð@þ™èþÞÆæÿ… ¯@þ$…_ °ÆóÿªÕ…^èþ$rMæü$V>¯@þ$ A¯@þ$Ð@þ$† CÐ@þÓºyìþ¯@þ¨.

  DIKSHA APP     QR 
CODE          
  QR CODE   -  
-  .



   
 , , 

  :
  , 

{ç³«§é-¯@þ çÜ…Äñý*fMæü$Ë$ :
}Ðèþ$† EfÓË }M>…™Œþ VøyŠþ»ZÌôý

C. ÑÔóýÚë-«¨-M>-Ç-×ìý, Væü×ìý™èþ…
´ëuæÿÅç³#çÜ¢Mæü çÜ…çÜ¦, ç³#×ñý.

M>W™èþ… :
70 h.Äæý$‹Ü.Äæý$ÐŒþ$. {MîüÐŒþ$ÐøÐŒþ

Ðèþ$${§æþ×ê§óþÔèý… :
 

Ðèþ$${§æþMæü$Ë$ :

°ÇÃ† :
} çÜ_a™é¯@þ…§Šþ Bçœ-âôý, Ð@þ¬QÅ°ÇÃ† A«¨M>Ç

} çÜ…fÄŒý$ M>…»ôýÏ, °ÇÃ† A«¨M>Ç
} {ç³Ôé…™Œþ çßýÆæÿ×ñý, °ÇÃ† çÜàÄæý$Mæü$Ë$

{ç³M>ÔèýMæü$Ë$
} ÑÐóþMŠü E™èþ¢ÐŒþ$ VøÝëÑ, °Äæý$…{™èþMæü$Ë$,

´ëuæÿÅç³#çÜ¢Mæü °ÇÃ† çÜ…çÜ¦,
{ç³¿ê§óþÑ, Ðèþ$$…ºÆÿ$$&25.

A¯èþ$Ðé§æþ… : } Ð@þ¬Ææÿä Æ>gôýÔ¶ý… Mæü$…§é-Ææÿ…
çÜÒ$-„æü : } çÜ…§æþ$ç³rÏ çÜ™èþÅ¯éÆ>Ä¶ý$×ý

A¯èþ$Ðé§æþ çÜ…Äñý*fMæü$Ë$ :
yé‘‘ }Ðèþ$† ™èþ$ËïÜ ¿êÆæÿ™Œþ ¿¶ý*çÙ×Šý

ÑÔóýÚë«¨M>Ç×ìý&™ðþË$Væü$, ´ëuæÿÅç³#çÜ¢Mæü çÜ…çÜ¦, ç³#×ñý

  ©	Ðèþ$àÆ>çÙ‰ Æ>çÙ‰ ´ëuæÿÅç³#çÜ¢Mæü °ÇÃ† Ðèþ$ÇÄæý$$ ´ëuæÿÅ {ç³×êãMæü ç³ÇÔZ«§æþ¯èþ çÜ…çÜ¦, 
ç³#×ñý&411004.

	 	D ç³#çÜ¢MæüÐèþ$$¯èþMæü$ çÜ…º…«¨…_¯èþ çÜÆæÿÓçßýMæü$PË$ Ðèþ$àÆ>çÙ‰ Æ>çÙ‰ ´ëuæÿÅç³#çÜ¢Mæü 
°ÇÃ† Ðèþ$ÇÄæý$$ ´ëuæÿÅ {ç³×êãMæü ç³ÇÔZ«§æþ¯èþ çÜ…çÜ¦Ñ. D ç³#çÜ¢-MæüÐ@þ¬ ¯@þ…§æþÍ  
H ¿êVæü-Ð@þ¬¯@þ$ çÜ…^é-Ë-Mæü$Ë$, Ðèþ$àÆ>çÙ‰ Æ>çÙ‰ ´ëuæÿÅ{ç³×êãMæü ç³ÇÔZ«§æþ¯èþ çÜ…çÜ¦ 
ÐéÇ ÍS™èþ A¯èþ$Ðèþ$† ÌôýMæü$…yé Er…Mìü…^èþr… ^óþÄ¶ý$-Æ>-§æþ$.

{ç³£æþÐèþ$ {ç³^èþ$Ææÿ×ý: 2019

Væü×ìý™èþ ÑçÙÄæý$ °ç³#-×ý$Ë çÜÑ$†
yé‘‘ Ð@þ$…Væüâ¶ý ¯éÈÏ-Mæü-ÆŠÿ	 (-A-«§æþÅ-„æü$-Ë$-)
yé‘‘ Ô¶ýÆæÿ§Šþ VøÆðÿ	 (çÜ-¿¶ý$Å-Ë$-)
}Ð@þ$† {´ëfMîü¢ VøQÌñý	 (çÜ-¿¶ý$Å-Ë$)
} {ç³Ýë§Šþ Mæü$…sñý	 (çÜ-¿¶ý$Å-Ë$-)
} çÜ$i™Œþ Õ…«§óþ	 (çÜ-¿¶ý$Å-Ë$-)
} {ç³àÏ§Šþ _ç³µ-Ë-Væü-sìýt	 (çÜ-¿¶ý$Å-Ë$-)
} çÜ…©‹³ ç³…^Œþ-¿ê-Æÿ¬	 (çÜ-¿¶ý$Å-Ë$)
} ÆæÿÐ@þ*-M>…™Œþ çÜÆø§óþ	 (çÜ-¿¶ý$Å-Ë$-)
}Ð@þ$† ç³Ngê gê«§æþ-ÐŒþ	 (çÜ-¿¶ý$Å-Ë$)
}Ð@þ$† EfÓË VøyŠþ-»Z-Ìñý	 -(-çÜ-¿¶ýÅ-M>-ÆæÿÅ-§æþ-ÇØ-)

    
} Ñ¯éÄ¶ý$MŠü VøyŠþ»ZÌñý
  
  
  
  
  
  
  
  
  
  
  

ç³#¯@þÆæÿ$Ã{§æþ×ý : 2022









 ,

   !   ,     
 ?     .       
  .    .

   .      . 
     .    . 
     , , ,    
  .

,         . 
 ,     ?   .   
,   /  .  
          
.

  /     .  
      .   /  
 .       .

           
 .        
 .      .

     ,       
 .

    . - .   
.

		  (.  )
		  
 : 7 , 2019,  	     
  : 17  1941	   , -411004.



2  -   
-   

 // 
   . 

•	       
. 99     
 .

•	      
    
 .

•	 9    99   
   .

•	       
 .

•	      
     -  
 ,    
    .

•	      
  / 
.

•	       
/  .

•	      
     
   .

•	       
      
.

•	       
   .

•	      100 
,   .

•	      
      
 .

 -

02.71.01	    .

	 –	 99      
.

	 –	    2, 3, 
4, 5  10    
.

	 –	     
   .

	 –	      
    . ( 
     
)

	 –	     
   / 
.

	 –	      
  / .

	 –	 ,     , 
  100 .   
 .

02.71.02	     
     
.

	 –	       
.  - , ,   
.

	 –	     
.

	 –	    ( 
, , )

02.71.03	    .

02.71.04	     /. 
(, , )



-   

  1  50     . . 

   . , -   

   .  10  1     

         .   

    10    1   

.       

10      1   . 

  ,      . 

2, 3, 4, 5     .    

   .

 

•	      
      
.

•	 , , ,    
    
    .

•	  /  
    .

•	        
      
  .

•	        
      
     .

•	  ,  ,   
     
 .

•	      , 
 ,    .

02.71.05	  ()    
  . .   
.

02.71.06	 , , ,    
   . 
 .

02.71.07	     
.  /    
.

02.71.08	  ,    .

02.71.09	     . 
.      
 .

02.71.10	 100 .      
 .     
 .
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    ,
    .

  ,    ,
  ,     .

  ,  , ,
 ,    .

  ,   ,
  ,   ,

 ,   
  ,   .

  ,   
  ,   .

 
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     . 

    . 





, 
 

 : ,  ,  , ,   

,     ,    .

      .

:
    .     .

    ,     !

  - 		   - 

     ....
   .     .    

       ,    .

 !
  .
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 :
   ()  .  

    .

  ,   

  . 

      . 

     .     

   .      .

        
.

        
 .
       
  ,   
   .


 

 

 

 :

   .

      .

 .
   ,  ? ?
         , 
     .     
 .



 : 
    . 

   .

*	 .
     					      

  1) 					    1)  

  2) 					     2) 

  3) 					     3) 

  4) 					     4) 

*	     ,     .
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       .
     ,     
      .

 .

       ?



         
 .    ,   .

*	    ,    .

*	     ,    ,   
 , .

-

-

-

-

-

-

-

-

-     

  ,   .

ICT Tools
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 

*	      ,  () ,  
    . (    
    ,   .)

   .   .    .

*	  :  , ,    .

*	    ,    .

    . 
    .
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   .

*	     
.

*	     .

*	    
.

*	     
  .

 - .

  , ,  

! 

   , 

  .
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,  
 

      
      
  .

   ,   .

*  1 :     .     
     .   
      .

*  2 :      ,   
.

*  3 :	  , ,   
 .

*  4 :	, ,    
  , .

*         , 
  .    .

  
  
  

 = 4

 
   
.  

  
.

 
  

  = 3

 
  
 =4
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* 1  100      .

1 4 6 8 10    
   
 .

12 13 15 17 19

21 24 26 28 30

32 35 37 39

41 43 44 48 50

52 54 56 59

63 65 68 70

72 76 79

81 84 87 90

92 95 98 100



1 26

75 69
82
77

36
51

99
30

43
12

19

56

64
83

59

77

18

33

86

97

	     .  

  .   

 ,    

.

        .

1  100     
   .



10

    (21  100   )

21   31   41  
22   32   42  
23   33   43  
24   34   44  
25   35   45  
26   36   46  
27   37   47  
28   38   48  
29   39   49  
30  40  50 

51   61   71  
52   62   72  
53   63   73  
54   64   74  
55   65   75  
56   66   76  
57   67   77  
58   68   78  
59   69   79  
60  70  80  

81   88   95  
82   89   96  
83   90  97  
84   91   98  
85   92   99  
86   93   100  

87   94  

 -

.. 50      100     .
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*    .

21 

37 

48 

40 

56 

 

 


 


 

 


       

.  47  .

79 

84 99 

 

 


 

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    .

 +  =   +  =   +  =  

2  + 4  = 24   +  =  

     .

  .

      .    .

1, 2, 3, 4, ..35   . 3  5 

   .     .

  	  24    		       		   45 

 .
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  

      . 

     

 
 

1 2 2 8 4 7
  

     .

     

    .

     

 
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39 41 22

37

 

3 7

 :

*       .

     

3 4

*  ,   . (-, -)

     

  

     
      ,  
  .

 : 37    3   
  7  .
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         !

      

6 2 6

5           0

    

3           5

   

6 20 6

35   3   . 

3     30  

.  35   3 

   30 . 5 

    5  

 5 .

  

50   5   . 

5     50  

.  50   5 

   50 . 0 

      

 0 .

  
?
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       .

18 1  10  1   .

23 3   3  3   .

65 5   5  5   .

72 7   70  7   .

50 0   .................

40 4   .................

88 8   .................

88 8   .................

61 6   .................

        .

20 2

22 38 41 60 95
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35   3   30  5    5 
.  35    30 + 5 .
30 + 5  35    .
94    90 + 4 .
60    60 + 0 .

30 5

35

  

30 + 5

20 4

24

  

20 + 4

70 3

73

  

70 + 3

40 9

49

  

40 + 9

 

     ?

35    → 30 + 5  	 24    → 20 + 4

73    → 70 + 3  	 49    → 40 + 9

   .

    
32

   30 + 2

10
........  ........

64
........  ........

17
........  ........
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 :

9       .
• 10  100   ... 
→ 5       ? 

→    .

• 10  99   ...

→ 0       ? 

→     .

:
•      .

  16  = ........			   77  = ........

  48  = ........			   82  = ........

  54  = ........			   91  = ........

•     .

   70 + 8 = 	 90 + 7 = 

   60 + 1 = 	 80 + 0 = 

•  .

10 1

76

7  4  0 

87

7 

50

52

8

98
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  
 

•     .

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

       .

3 6 9 12 15

	 3  3   6   . 6  3  9 
  .    3      . 
	 3  6, 9, 12, 15  3    . 

        .

   .      .

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

      ,    
 .        
.    .

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25

•     .

	 4  9, 14, 19, 24  5    .



20

	 	   5		        	 + 		  2 	   	 =	 7

	 	   2	    + 			      5 			   =	 7

		  4 + 1 =   		  1 + 4 =   	   

		  5 + 2 =     		  2 + 5 =   

		  3 + 7 =   		  7 + 3 =   	  

 		  8 + 3 =    		  3 + 8 =   

		  8 + 4 =   		  4 + 8 =   	   

		  5 + 6 =     		  6 + 5 =   

		  0 + 3 =   		  3 + 0 =   

5  2  7 
 2  5  
 7,  

  
  
 !

 

!   
   .
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 : ,    ,   .
 	 :	 ,     5  .
 : !       ?

   						       

           							     

       							           	   

( 1, 2, 3...  7   ,   5  6, 7   
  .)

 :    ,  ,     
?

 	 : 	 .

 : 9   3       
 ,    ?

 	 :	  12  !  1  12  . 

				    + 

 :  9  10, 11, 12    12 . 
 9        
.

 	 :	  3  , 9   ,  3  9 
  12 !  3  9  9  
3  !

  .
25 + 3,		  5 + 38,	 5 + 19,	 4 + 23.

 -  

2 +5  5 +2 
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   1  50    .

     .    

. 8  9  8      9  

. 17   ?  8  9  17 .

•   .

•   18  ,   7 ,    
 ?

? ,   	  

  ?  	   

  ?  	  

•   27  ,   5  .   
   ?

 ? 		           

  ? 			     

  ? 			     

•   .

+

+

  27 + 8 =     8 +  = 14    67 + 3 = 

   + 9 = 16    54 + 9 =     49 + 2 = 

1 2

5

1 5

4

6 2

3

5 4

8

4 1

9+ + + + +



 
4

2

6

 

 
    

 

 2

 1

   3

2

 3    5

23

							            	
  +  

			   +
     

							            

       
 2
 3

3
2

 2
 

4
3

1
3

2
6

4
4

7
1

 5 5  2 7 4 8 8 8

    

 :    .

5 + 3 6 + 2 5 + 4 4 + 4 3 + 6

+ + + +

 -  

+

4  ,    
 .
2       
 .

 6 ,    
 .

 :   .

2  3 

1  2 

3  5 

23 + 12 = ?

++

+
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•    .

         
 1

 1

2

3

 1

 1

5

2

 2

 

4

5

 1

 2

6

3

 3

 

7

2

•   ‘’   ‘’  .

 

 1 

2 

5

1

 1

3

2

5

 1

2

7

2

 3

1

3

6

 1 

3 

7

2

 2 

3 

3

6
 5

2

2

0

 1

3

8

0

 4

1

4

4

 6

2

1

4

•    , .

 

 

+ + + + +

+ + + + +

+ + + + +

+ + + + +
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 ,  .

    ,    .    .

   

	     3		      + 		     0 		  =		   3

  2   ,        .  

     .   .	 

	   2		  − 		     0 		  =		   2

    :

2   + 0	 =	  4   + 0	 =	 7 + 0 	 =	

19 + 0 	 =  27 + 0	 =	 65 + 0 	 =	

78 + 0 	 =	  0   + 0	 =	 6 + 	 =	 6

3   − 0 	 =	   5   − 0	 =	 8   − 0 	 =	

11 − 0 	 =	  19 − 0	 =	 23 − 0 	 = 

55 − 0 	 =	  82 −  =  82  − 0	 =	 17

      ; 
     .
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•	 14    21        
?

	 ?  ,  			    	  

	 ?  						       

	 ? 					       	  

•  15 .  21 .    
 ?

	  ? 			  

	  ? 		 	         

	  ? 			 

 :

•	  15 ,    20 , 

    ?

• 	 24 .   12  ,  

   ?

•	  18 .     11  , 

     ?

•	    24  ,   32 ,   

    ?

•	   30  ,   24 

.       ?

 
 1

 2

4

1
 3 5

+

+

 -1
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  
  
   

   5 
−

3

 

−

8
−

4
4

8
−

6
2

    2  
    2  .

  .
• 8    4  .      ?

		    4  .

		  5  − 3     	    =  	     

  5 .   3  .     
 ?

   		        .

•	 8   6  .     
  . 

• 6 , 11 ,     ?


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   .  49  
.  5  5    
.    , 
   .

  .  49 
     
.   45.  
  .    
    , 
  .

   
   
.

  
        49    −   4       =   45

        45    −   5       =   40

        40    −   5       =   35

        35    −    4      =   31

        31    −    3      =   28

        28    −    5      =   23

  
        23   −     5      =   18

        18   −     5      =   13

       13    −      5     =   8

       8     −     4       =   4

       4     −     3      =   1

        1    −     1       =  0

  

























   .
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         
.    .   9 
.    .   14 
 .    ?
	 :	  14  9 .
	:	  14     9   .  5 
 ,   5  .
	 :	  9  14    ,  5 .  
  5 .

      .

        
 . 14-9   . 9 + 5 = 14,  14-9 = 5.

   9  14  5  .   14 
 9   , 5   .    
5 .      .   
  .

(1) 12 - 8 = 	 (2) 32 - 1 = 	 (3) 15 - 10 = 

(4) 43 - 2 = 	 (5) 13 - 11 = 	 (6) 39 - 3 = 

(7) 20 - 18 = 	 (8) 44 - 40 = 	 (9) 11 - 2 = 

43 -  2    2  43     
, 43  2  ? 
44 - 40    44  40  
   40  44   
 ?

1  2  3  4  5  6  7  8  9  10 11 12 13 14 

1  2  3  4  5  6  7  8  9  10 11 12 13 14 14 - 9 = 5
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 .

		  12    87  + 12  = 99

		  87    99  − 12  = 87     99  − 87  = 12

		  50    34  +  = 

		  34     −  =      −  = 

		      +  = 

		      −  =      −  = 

    , .

		      +  = 

		      −  =      −  = 

10 + 12 = 22

22 - 10 = 12 22 – 12 = 10

71 + 22 = 93

93 - 71 = 22 93 - 22 = 71

99

84

75

     
   
  .

5 + 5 = 10   10 - 5 = 5 
   .

- 



31

•	   9  ,    15   
?

	 ?   ,   
	 ?    .

  :  
 

	 15 − 9 = 			 				       9 +  = 15

									             15 - 9 = 6

•	  30  .    .  22 
 .     ?

	 ? 	

	 ? 	

	  − 22  = 					        22  +  = 30

								              -  = 

.

8 +    = 17	     − 9 = 8	  	   17 − 8  = 

29 +  = 32	 	   − 3 = 29	 	  32 − 29 = 

42 +  = 49	 	   − 7 = 42	 	  49 − 42 = 

  
 , 
   
 .

  .  
15  9   
 
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•	   .

       
 2

 1

7

3

 3

 2

7

5

 6

 3

8

4

 9

 4

8

0

•	  28   .  14  . ,  
    ?

•	  46 .   12  ,   
 ?

•	  58  , 32 . ,   
?

•	  16  .    
  ,  29  .  
      ?

•	  54  .      21 
 .     ?

	  ?	 54  , 21  .

	  ? 	    .

	  ?	 

 
 5

 2

4

1
 3 3

 
 
  


−

− − − −

 
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  


 

•	 30     .
•	   31    ?
•	     ?
•	      ?
•	      ?

1
2

3

4

5
67

8

9

10

11

  
( 
)


31 


31  

28  29 



31 


30 

 31 


 30 


 31 


 31 


 
30 

 31 


 
30 





 


12

      .

    
30   , 
,    
  31 .
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  

  ,  .

  

      ?

1
2

3

4

5
67

8

9

10

11

 




 
























12

















   

     .
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  ()

 
 1 8 15 22 29

 
 2 9 16 23 30

 
 3 10 17 24 31

 
 4 11 18 25



 
 5

12
 


19 26

 
 6

13
 


20
 


27

 


7 


14 21 28

 :

         ?

 :    ,   .

•	       ?

•	       ?

 :

•	    4    
	     ? 

 : ,     
   
 ?
 : ,   
  !
 :  ,  
   ?
 :  
 :     
?
 :    
, 25    
?
 :    
.
 :  ,  , 
  .   
.

 2019
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  , .

    ,   

 , 

•	     .

	 3,   8 		  1,   9 	 2,   20 		   

•	     .

	 4,   7 		  2,   7 	 8,   9         			 

,    . 

*	 ,   ‘<’  ‘>’   . 
       .

  3 < 7   		     1 < 9   		     20 > 2   

3  7     		  1  9     		  20  2 	      

  7 > 3   		     9 > 1   		     2 < 20

7  3     		 9  1  		   2  20      

 :	  37  52  . 37  3  , 52  5 
  52 > 37,  37 < 52.

*	      ,   
?

 

  ,   .

7              2
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      .

 :	 !      37  , 52 
 .     .    
  ?

  ,      .

43  28

43 = 40 + 3	  

28 = 20 + 8	

31  33

31 = 30 + 1	   

33 = 30 + 3	  

    

  3   33   

 3 , 31   

1 . 31 < 33

43      

 4  28    

  2. 43 > 28

   ,   <  >   . 

	 43,  46		         84,  86		       57,  67

      43 < 46 		         		

	 30,  50			        9,  13			     23,  32

      		         		

  :   10  ,  
  ,  .

 :	  72  78  . 2 < 8  72 < 78.
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  ?
      .     , 
     1,2,3,4, ......   . 
  0 ()   .

 ,   
  

22    23    24   25    26    27

     .       23  

.

   22    23    24    .

  ? 

       1     

   1  .

        .

	   54   		    79   	  	   40  

	   37   		    62   	  	   99  

	   50   		    78   	  	   32  

	   39   		    30   	  	   68  

0  1  2  3  4  5  6  7
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   
 

36, 23, 17,       .

 (36, 23) (23, 17) (36, 17)   .

36, 23, 17

36, 23, 17 

36, 23, 17 
17

17, 23, 36

•	 23 < 36, 17 < 23  

17 < 36 .  17  

 . 17   

  .

•	  23  36  

 23   

23  ,  17  

 .

36, 23, 1717, 23

•	    36  

,   23  

 .

   

!   .

17 < 23 < 36

   -    .

(1)  25, 12, 54		  (2) 67, 9, 32		  (3) 44, 92, 30



40

36, 23, 48       .

36, 23, 48
48

•	 36, 23  48  
    
 . 
   48, 
  . 

•	     
    
,   48  
 .

36, 23, 4848, 36

  

!   .

48 > 36 > 23 

  ,   .

    
26, 19, 47 19 < 26 < 47 47 > 26 > 19

62, 85, 50

32, 9, 13

43, 76, 89, 60 43 < 60 < 76 < 89 89 > 76 > 60 > 43

15, 9, 75, 52

    (  )  
, 3  4       
   .

•	    , 
    
.

36, 23, 48
48, 36, 23
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      .   
.
   .     ,  
.

 
, 

                    7 , 8
 , 

  1 ,   3
 13 , 31

 , 
 , 

 , 
 , 

 , 
 , 

 , 
 , 

 , 
 , 

   7 ,  5
 75 , 57

1    7    5

6    3    8

4    9    2

                                    

 :	   5-6   .     
 ,    .

	            
 .
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        .

         
       .

  : 47, 74

   - 74    - 47

  : 

   -    - 

  :  23,28, 32, 38, 83, 82

   -    - 

  : 

   -    - 

4
7

3
2

8

5
8

5
0

9

 :   -     
?

 5,9   05, 09    .  5, 9 
  .    .
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 () 
 



 ,    
 . 
, ,   
  .

    .
     .

	 -   ,
	     .

    ,
    .

	    ,
	     .

     ,
   .

	   ,   ,
	      .

  ,   ,
  ,   .

	   ,  

	   ,   .






 

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•	      ? 5  
	 5    .
• 	     ?   
	    .
• 	   ?  •    ? 

• 	     ? 	 •   ? 

•	    ? 	 •   ? 

•	      ? 

• 	      ? 

• 	       ? 

1, 2, 3, 4, ...   , , , , .....   
,      .
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  

  .

•    
 ? 

•      
? 

•     
? 

    . 

 

  ,    .

•     ..............  .

•   ............  .

•   ............ .

 33  34  , .

•      ? 

•       ? 	

 :     ,   
.         
 .

 
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

 


     .

1)    - 

2)     -  

3)      - 

4)      - 

5)     - 

6)     - 

7)      - 
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    .

1)     ?

2)	    ? 

3)	    ? 

4)	, , ,        

  ? 

 :

•	         , 15  

     .     

     .

•	          

.     , ?

   .

    ..
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  !

      

8  4   12 . 
 10     
.

7  8    15 
.  10    
 .

,       ,  .

         
9

6

6

5

7

4

6

6

4

9
+ + + + +

 +    =   

  10	     +	        1 4  =	   2 4

   .

 

1
1

0
4

2 4

+

  .

       
2

1

0

6

1

3

7

0

1

4

3

0

1

5

5

0
+ + + +

 :   9    .   10 
     .
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•   ,    .
 

 1
 1 5

9
 2 1 4

+

 

 1
 1

 2

4

9
4 1 3

+

 

 1
 2

 1

3

7
 4 0

+

 

 1

 2

4

9
 3 13

+







 4  + 0 ,  40
23  +  17  =  40

•	4  + 9  = 13 
	 13  = 1  = 3 
• 2 + 1 + 1    		
	     
 	  4  + 3  = 43

14  +  29  =  43

5  + 9   =  14 

 14  10     , 4  
  .

 14       =   1  	      4 

•	 10      ‘’ .

•	  1    +   1    =  2 ,     .   
 .

•	 3    +  7   =  10
	 10    =  1     0 
•	  1  .    ,  

 .

•	      ,   
 .

 :       .
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•      , .

• .

           

 3

 2

6

5

 3

 2

2

8

 4 7

5

 6

 2

8

2

 4

 4

4

8

 3

 1

8

4

           

 7

 1

1

9

2

3

5

7

3

2

5

9

4

1

2

9

2

3

7

4

4

2

4

7

         

4 9

3

 5 5

8

 6 9

9

 6

 2

3

8

 6

2

5

6

   

+ + + + + +

+ + + + + +

+ + + + +

   10-10     
, -  , ,   
,      ,  
.
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•	  15 .    26  . 
      ?

	 ?  15 .  26 . .

	 ?                
	  ? 					       

 
1
1

2

5

6
4 1

  
  
 

+

 -2

 ,  -       
.

•	    24   28   ,   
     ?

• 	  34  ,     36  
,       ?

•	   25 .     13  ,   
 ?

•	    35  ,     19  
,        ? 

     .

• 22 + 37		  • 34 + 28	 	 • 30 + 19

• 26 + 34		  • 59 + 29		  • 49 + 17
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   ,  , .

41 + 10 =           +         =   

		    4  1    +  1    =  5  1 
		                41     +   10   =    51

41 - 10 =           -          =   

		    4  1   -  1  	   =  3  1 
		                41    -    10   =    31
  10   ,   .

 (20 ),  (20 )

37 + 20 =     +     =  

		    3  7      +  2   =  5  7 
		                37       +    20   =    57

37 - 20 =      -     =   

		    3  7      -  2    =  1  7 
		                37       -    20  =    17

• .

6 + 10 = 	   18 + 20 = 

29 + 30 = 	   62 + 10 = 

77 + 20 = 	   84 + 10 = 

• .

15 − 10 = 	   26 − 10 = 

34 − 20 = 	   53 − 10 = 

67 − 20 = 	   92 − 30 = 

 :    10, 20 
  10, 20   
?
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 4  
.

  :	   10  , 5    ,  
 7   ,   ?

 :	   ,   10  5   15  . 
 7     .

15 					        32 

1  	 5 			      3  	   2 

	  1  		         1  

	    15 				    2  	 12 

1  5  			   3  2   
	    15 				    2  12 

 20 
 .

  10  

 
?

 25  
.

  

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  

22  −  7  =  	    30  −  9  =       63  −  6  =  

     
 1

 

12

7

 2

 

10

9

 5

 

13

6
 1 5  2 1  5 7

22  −  7  =  15 	    30  −  9  =  21      63  −  6  =  57

  .
23  −  5 =  	     25  −  8  =       37  −  9  =  

     
 1

 

13  1

 

 

 
 1   

35 - 17      , .

− − −

− − −

  
2 15
 3

 1

5

7

 1 8

−

        9    
 ,       9    .

  

 
3    5 

 
2    15 
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  .

     

 4

 1

0

1

 6

 2

7

9

 9

 5

2

3

•	  43  27   .      
	 ?

	 ?   43, 27  .
	 ?   .
	  ? 

 
3 13
4

2

 3

 7
1  6

•	       70  .
	  42  .   ?
•	  92 .  59    . 

     ?
•	   67 , 48  .     

?
•	     81   78  

 .     ?

17 − 9 =   
30 − 12 = 
51 − 18 = 
46 − 17 = 
83 − 59 = 

74 − 25 = 

− − −

3   7  
,  1 
 , 13 
 .

43  27 
.

 
 
 .

−
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       .     . 
   .     .
   ,   .  
    .

- 

       .

   100    .

1 2
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    .
         
  .

,  .

	       .

	     .

	       . 

	     .

	        

	  .     .

	       .

	     .

  :      ? 
       ?

25

10

201 =` 36
1  = ` 3

80

7

80
80 80

10 10 10 10 10 10 10

25 25 25 25 25 25 25 25
60 60 60

60606060

6

1 1 1 1

101010
151 

6 6 6
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  :        .  
           .  4 
    .

 5   
  
 ?

     .     
.      .    
     .     
.

 

2  3  4  5 

  
?
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         .  

     ,     . 

       .   

    ?

   : •        

    ?

•      / 

    ,    .
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      
 .

            
.      .    .

     
   . 

 

      .

    .     .

      . 

       !

     ?

    
.  

,    
 .

,  . 
    
.

?
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*   .      .  

     . 

    .

 :       
   .

        .

       .



62

*         . 

 

       .

       .   ,  

,   .

       .

 	 :	 ,         ?

 	 :	 .................

 		     ,        ?

 	 : 	 .................
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   :        .  
     .      
      .

  ?      
  ?

    
  ?

 :      ,    
.      ,       
.
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    . 

1)       .

2)   31     .

3) 30     .

4) 28  29    . 

5)      31    .

      , . 

1)       . 

2)    . 

3) ,     . 

4)     . 

5)    . 

6)    .

 

    .     

.



     

   
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      ,    . 

    .

    . 

1)       ? 

2)     ? 

3)      ?

4)      ?

5)     ?

      

 


, 


, 
, 



, 
, 
, 


, 
, 

, 


, 


      

 


, 
, 


, 


, 


, 
 


, 

    
  ?

   
!   
  
 .

    
.  
   

  . 
   

 .
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  .      

  . 


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 :

    .     
    .

     . 

  ,       .

A V M A V M A V

1 3 1 3 1 3

1 0 0 0 1 0 0 0 1 1 0 0

           
  . ,      .
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  .

   .   
      .

15 20 25 45
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  !  

-

 :      
?   

 :	 
 :      

 ?
 : 	 2 + 2 + 2 + 2    .
 :	    ,    

?
 : 	   2      .  

2 + 2 + 2 + 2 + 2 + 2 + 2 + 2   16.    
   .

 :	    -  ,   
,   .    
     .  
    .

 ,  .

1)    

              +       +       +      +      = 

2)

         +       +      = 

3)

	          +       =    
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3)

           +      +      +     = 

4)

             +            +         	  = 

5)

         +      +      +        = 

,  :

1)					          ? 

					           ?   

					          ? 

					       4  3  3 + 3 + 3 + 3 = 12

2)     .	

					       ? 

					        ?   

					        ? 

					      3 + 3 + 3 + 3 + 3 = 

				          .

					       3 × 5 = 15  .

 ‘   ’  . 

‘ ×’    .

  -  ,   
   . 
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2  :

2 × 1   2   

2 × 2
  


4   

2 × 3   


6   

2 × 4   


8
  



2 × 5   


10   

2 × 6   


12   

2 × 7   


14
  


2 × 8   


16
  



2 × 9   


18
  



2 × 10    20   

 .

‘  ’  
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3  :

3 × 1   3
  



3 × 2
  


6   

3 × 3   


9
  



3 × 4   


12
  



3 × 5   


15
  



3 × 6   


18
  


3 × 7   


21
  


3 × 8  
 

24
  

 

3 × 9   


27
  

 

3 × 10
  


30

  


  4     .

 ‘  ’   .
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4  

4 × 1 = 4

4 × 2 = 

4 × 3 = 

4 × 4 = 

4 × 5 = 

4 × 6 = 

4 × 7 = 

4 × 8 = 

4 × 9 = 

4 × 10 = 

10  

10 × 1 = 10

10 × 2 = 

10 × 3 = 

10 × 4 = 

10 × 5 = 

10 × 6 = 

10 × 7 = 

10 × 8 = 

10 × 9 = 

10 × 10 = 

 :	      
.

: 	   4   .
 :	      4 

 ?    
? 

:	    .     
 .      
. ,    .   4 × 1 
= 4. ‘  ’    .

(   .)     

: ,       
,  4   (  , 
, ,      
 . 4 × 2 = 8  .)

 :	 ,     .
	 (       

   , 4 × 3 = 12 ‘ 
 ’   .)

 :	  ,    
   4    , 
   .

 :	      !
	   !
:	 !  10     

.
	   =  10  10×1=10, ‘  ’
	   =  20  10×2=20, ‘  

’
	     = 100  10×10=100, 

‘  ’   .
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  3 
,  4  

,   
12, 4  3 = 

3 × 4 = 12

  4 
,  3  

,   
12  3  4 =

4 × 3 = 12

5    .  5   5   
  .

 :

  !   12 ,   12 
.  4  3  3  4   12  .

    3 × 8 = 8 × 3    .

         5 5
	      5 + 5 10
	     10 + 5 15
                           15 + 5 20

	      25 + 5 30
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2 × 1 = 2

2 × 2 = 4

2 × 3 = 6

2 × 4 = 8

2 × 5 = 10

2 × 6 = 12

2 × 7 = 14

2 × 8 = 16

2 × 9 = 18

2 × 10 = 20

3 × 1 = 3

3 × 2 = 6

3 × 3 = 9

3 × 4 = 12

3 × 5 = 15

3 × 6 = 18

3 × 7 = 21

3 × 8 = 24

3 × 9 = 27

3 × 10 = 30

4 × 1  = 4

4 × 2  = 8

 4 × 3  = 12

4 × 4 = 16

4 × 5 = 20

4 × 6 = 24

4 × 7 = 28

4 × 8 = 32

4 × 9 = 36

4 × 10 = 40

5 × 1  = 5

5 × 2  = 10

 5 × 3  = 15

5 × 4 = 20

5 × 5 = 25

5 × 6 = 30

5 × 7 = 35

5 × 8 = 40

5 × 9 = 45

5 × 10 = 50

10 × 1  = 10

10 × 2  = 20

 10 × 3  = 30

10 × 4 = 40

10 × 5 = 50

10 × 6 = 60

10 × 7 = 70

10 × 8 = 80

10 × 9 = 90

10 × 10 = 100


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 

        . 
  .........  .      
.        .

     

. 

     

 ,  .  

       . 

     ,   ? 
       .

     

  . 

‘        
 ,     .  
        
     ?   . 
‘ ’     ’   
.

        
 , .



साहित्य पाठ्यपुस्तक  मंडळाच्या विभागीय भांडारांमध य्े  
विक्रीसाठी उपलब्ध आहे.
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ebalbharati

पुस्तक मागणीसाठी www.ebalbharati.in, www.balbharati.in संकते स्थळावर भेट द्या.

•	 पाठ्यपुस्तक मंडळाची 
वैशिष्ट्यपूर्ण पाठ्येत्तर 
प्रकाशने.

•	 नामवंत लेखक, कवी, 
विचारवंत यांच्या 
साहित्याचा समावेश.

•	 शालेय स्तरावर पूरक 
वाचनासाठी उपयुक्त.
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